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# B 21 Double Salt)
Jm7KZ2 L n Hydrolysis)
% (1B Procipitation)
H ) Scblimation)
(2 FRIFRR TR
FeS4-H.80,>
Kmn0; +HC-
Al4+NaOH—»
Sioe +NaOH—>
Pdl; +H,0>
(4H—FEWH > H7T K65, MR iy 7 (Liter) S35 T
() siahy . Ammonia) 2 Bly: » M8 R o
(Bl e BEREE S BEH S
Y ERAAE 2
8 1t B @=w
1o BT Sk (Sulphurie acid):2 o5 Prf B8 o FHARE o
2 WTRAFBRRESY
Ca/OH) . +HCl—»
NHF Cl4-NaOH->
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4,

5

H,S0,-+EKNO;—>

Na,0o+HoS04>

Ca+4-H.0=
LA 200358 o WEHSE LS Hydrogen chloride) 2 Sl T3k o ZEHENE
$k7R, Standard conditions):ZF o 4 (P4 Z MBS BT o (Na=23, Cl=385.5,
H=1.008)
17758 %2545 | Chemieal equilibrium” o SREFISIAZ o
{5 B R e (Periodic table)
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A, REBEXBREPIRZE
1. # ] -
F (DF— BRI 5 SRR - FEE T 5 » SR
%1 42) PilEZ3C s BEELA
Lo o[ E 8PS ki > SETe PRI SETRIAL RS ? B RIS AT AR SN - &
BRPUSEZRIGA T R SRR A S S R
2 B S — KPR T B PR | T R 2 ek i T oh T2 § o
B R sk B > — IR A B — e | 8 APa T B s sl Rik—
SRR | —30 > B AP IR R R AT A > YA I SCAR TR ?
3, RAEER L4572 2
4 ReESAE 2 3 HATMRE RS ST BLTEIE ?
5 SEECEE FINFERS » RN AT 20 ?
6 FRIBIBTNR > PR BRI T EE > REN o
Toopo Ll St BT I RS B 2 I T 1 BB IR A T
WY
8 TR B B PR AR 55 SREL SR Ml o » St T 7
L ¥ OFE oo
(— ) R LR v W5 RBSYR B imL 5 LEMERAR » 2
S LA [ IR | 2 a0 > BRI A A R ? X
R SERITAR S B RS ST H ) ?
(=) PR ST 2 ek B S HE S AT T2 (R
(=) HEH M 2RSSR > RIGHATZ 0
(19 ) T B HEREE A > SR RS R AR E Z o
() BA s Mg i WS RS R LR A5
B R Te 3 DA BT 3 » THHEHIET AR IEN, ? 3 ARTRER 3% »' o]
R 2
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HERE  S--HOUAN o ST > SR
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1) YR

12) A IRARAEE L BEIBRRS RN PR EDIES %
e R E SRS TR LR RS 4050
2 B X om0

HESR LB

BAYUSTRBIE » SRS o

3 R X @
Chinese Youth

- A A i,

3 W O (@m0
» College Education As A Training For Life

B. REPhBESER AR RE

L PEXHEE G-

() BB %0 > IS hEBHTZ M MANRAME > S5 6

(=) BRREMRS o > SUPRBICEZ R o

(= Bﬁdﬁ%‘l}ﬁ FEE LA WRER > RHACLIER o

(m) Bﬁi{@ﬁ*?ﬂélﬁ‘ﬁzf BRI+ BREARFAER o

(&) B TR IR SRR 0

(") e OB IR » SFETE IR » 3P [ Rk | 8
AR ERTHITE > BHER Ao

Y k{rtezy

Te SPERECRE gox)

G -BEARA R BT BARE o

() HEES BXEZD > mBEM7?
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"W OoE R m Z=ER) ‘ —_11

W SLBE BB, » IR o

BRI BT AR ZFE ] » SCAETT ? BT o

S AR TR T2 AE S » DURAERIS A TRES ? B seg > WAL |
FEHHH » JAEN ? REHHHLZ -

FARAT » ISR ATEE ? RS A » AL IR o

B [Am ] TR T 25 | Saibi2my) o
WS4 TR SR o

WRAIRICH » FHR— A » DBSk o REERTESS
BREAREELS » TR REEHRAEEIA ?

2, BISKRE w0

B v B TAITR » ——RHHEHE

(—ALFARE
{(VER=
(= REAS
(. B8 -EHs
DO REBLE LI TR
Z > ETAA W PERE > —BERENAL
(5, BRI Ve
(BIR TR e
(R EARRE VBRI
() ST B R B4R )
(P HREEERR &
7 M TR P T aa R - BEAS  BHSNASUEZ ) (BEHEFR
)

) ERTSGERES - B 8 (l): B0 (4. (BEEM)
(TR (S AR (HERHR) (— B
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(+Z AEBER Hx WEHE U5 GER. PiEo
CHERTECERRS  RED AT 245
(FIL DR PR R IR ¢ R CRAMICERW) EOT NI
(BERERT SR ) GEREGREH
T B TRIARRENE » PRI
(AT TS5
(k) BRI o )
R BTN g
CFIL g R 4e Sl AR i o
(=) BRI S )

2, BISKHE up=w0
(—) BATHBRZEMo
(=) FEETZURI AT BA ? REHHS » RIS
(=) BODsvrEIsuERgmT o
(M) SREERRESE » SRR IEE ? REA IS Z o
() BEECE  WRZA > £8Y% o REZ S THIINE > RIELEEo
) BEZR - BAFA SR FARE?
(&) AescIRMaUlEE S » BB HoRR » BUE o
CA)Y  SUSHSR AR ? RS ?
(Ju)  msesfl ATGE ? SRR SRR ?
() WCRER > 4 2T RPJERE®o

C. FCEBEAMEIE R AR
1, SEEREB gr—)

1.- What do you know about Shakespeare 2

A A A e i)

2, Explain brisfly the. Romantie- Movement-in Fngland :
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JHISTORY OF ENGLISH LITERATURE (48—3¢)
Give the non'drdmatiz hosts and the fztst_Eng‘iish dramatists of the
Elizahethan age, and diacuss the general characteristies of their works.
2. Cheracteraize the Age .of Johnson.

=

8, Trace the development of nove),v and mention 2 few of the great
Movelists and their works.
4. Contrast Romantism and Realism
2, DHELBMH -0
1. Discuss the meaning of literature.
2. Explain the nature and chavacteristics of poetry, drama, and prose
fiction.
2; INTRODUCTION TO LITERATURE (5=
1. Discuse the purposes of Kteraturer
Give the principal types of literature, Explain.
3. Distinguish the following terms:
a. Prose and Poetry;
b. Novel and short story;
¢ Biography and autobiography.

4 Trace the development of drama
D. EERmEREER T =SAARMESE
L B E—-0

FE TR A SR ZIHEA
i x| i ] 3 A
O = o o | |
s s | 1
B 2z B % | i
-0 - O R R
__ B w3t | I I
WoE A 3 | 1
R W1 A b
& 2w B i .
B W i
K BH & 2 | Ao R
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(HERE) W2 LB > S e B N o
EuREMEEe  RARNEE
1L PEEE gmop
PRSI SR R

EEERE SO0 > £ED Do
BRSO > TIN5 > EO0RHONNMNE o
FUF 2o T RRRIE » TITUR 2 > STREERTIOINE o
HEWRE T > T REATIOZ®
RVREAERR > R BORE > (%Ko
SOCHRRSEAER S > SBOCZE
FACICT > CIOCHeA » EOLTRRES o
LOCIEESE » HEELT > OICIEE o
BIH 2RO FRMR OO -
REHF—4-F U ER R AR 35 > er 00 OO > 00> O0e

2 JEREEE e

1 REAeFERZER
2r ISR R G R TR B 2 75 AN AT A LGB S 2450 > BEWE ?
HilrEZ o
ZEHE— iR
2 HEEER oo

(L) FMELE ? RO R ERIE ? SRR ISRk o
125 FEFEPREN SRR ? R AR NESENE ? BB R TR
—HRIBMEZ °
SHEE—EES o

E. SCRBBCAHETER
1 BOAHEL P RE
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L BORE:  gE-—0
(—REF(DAustia (£)Bodin (3)Montesquieu (4)Laski (5)Duguit (8)Gdrnét
17)Locke (8)Rousseau (9) J. S. Mill (lojMachaivelu EIET o
(=5 IRRIEE R ? DI AR i © e in T 2
() BIRBORETR
» British King Reign but not govern; American President.govern but not
Reign;
¥Fyénch President Neither Reign nor govern”
REDHER
(H, BEr-EE IS NS IEEER?
L BUREE =0
o EREATEE T HEHEH?
RIS > B 0 AT ARE.
S EERRERATUERERE T RN AT ?
M~ Bk AT i SURTE Bl R g A o
F. v BRaoL - ) R BT 2 R TR o
ALRIE R
2 REEE E-%
1y REERERE ) HEERENE T
20 BREL> HUR > PR - SRR RASERITR ? AL o
3 T RE - AR S » 4 P EREURE AR EREB RS
> PR ERRRER SERE - J B HERHESk
4 EREIBERIAMAN o 3307 WAHE A2 R o
2 FEEE o)
1y RpsaEERrfaRENE-
2y SHPIRERE I Law of diminishing retufnsjy s
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3 RFEIEREL (Malthus 2 A [T 7 o
4> BRI (Profit’ L2 KA o
5 BRI SONBHEE o (2YEHEHEE - (3 WMA3IAEE Gresham’s law, o
0BG Arilin st
L BUEE (-2
(—). i Bl 5 (Justice ) B R AR A ? SEABEHE?
() Hedg Bl T (Austin) Shidlr i (Leski B zEdiEsR
B dl—u— 9 R R 2 N ¢ A 2k AR T 2 ? R e
SRR R JER R T ?
(1) BRARPREEEZ JEL - AIGE > BHEIR » WRHERC I R WA LRER . o
L BRE oo
1> International servitude (EREHIR) BABRZELNNRCRTRE 238
Ao
25 (URRAMAE ? PIRREIOHE 7 BRI Ber A B ?
3 REOETRBELZ LR o
4, (a) "A law is a comand which obliges a person or persons” (Austin),
Duguit EELEEIE ?
(b)  ERBIEHIF Austin Z=ejEs
2 BERBGAHIEE a0
(—) xB6y Witenageniot Juim i S3L (C oy & Sy 2
{2 (&) Y SEIHES L ACkEA i 2
(B) SR IE MRde T SR W T 04T ? MU SR 2
(=) fe&IB] Palomentary Act of 1811 % Mubicipal Corporation. Act of 1885,
(M) RMEEE— LA SRR BT » SR R ESE IS T ?
2, EBGETE  @r=w0
1 R lSERREE R R B R

i
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1
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2>

3,

4,

1
2

WA B M (SSER — 17

Heme e BRIE
SRR R 2 R R
Tz (a) 3B Ministry F5Cabinet 5

" (b) Public bill §1 Private bill

A = AR s R

L MR o-mo
B i S IR B T R 5 2 A el —aRatek o
WP A 2
FISEmAERInREE ¢
B P RS Yok 1 ? R LI o

L fEE: ez
Discuss the advantages and disadvantages of callecting priwavy data by mails

and by trained eunumerators.
Compare the randern method of sawhling and the represeniative method of
sampling.
How does the use of the geomebie mean differ fom other kinds of averages?
Explain: (a)Dispersion, (b)Skewness. (c)F‘réq;lency series (d)Tinec Series

L REEREUE w0
BUREE N B ALk
A T B RE T  seMHEESZINEH ) o iiffi:}’:’ﬁfﬂﬁ-’r' ?
BRSO RE ? 1HE0R 5B B ? 2 A s ?ﬁ@ﬁfn BRI > 3
SR BB 7
R T B 2 TR Y

2, FEER (=m0
SRIIAE I T B Rt (Bohm Bawerk 22 1 435 o

- . b MV
RBEHATHZAR P =P
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EERE YT )
W SR (R L Z TR B o
IR ¢ TR DR 2B RN AR R R A o
F. SCBBEHE R
1 ZARInE R E
1 TEOEEE (-0
BB
(a) TR & (A R S > B D3R
(b} DEEEE CRERL o HERIEEER)
a5 FRIEE AR ¢
(2) BB
(b) HEERRRE
(e ¥aflpde ML ER
(d) LGS TS EEE
B
(2) feifistsr James.Lange Theory)
'b grigtlt Weber's Law)
c) &gtﬁmﬁfé& Cpuditi_oned Reflex’ Eixpériment)
LoOERLEE G0
AR ? TG AR 7
R SEN AR LRI
B R HA ST 2
Bt Helmholiz Y faRE 5t |
BT~ dh LIRS o
R R ST BRI
2 EEIEE @weso
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5
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W OB X & {(==%% —g

A A A P et i N AN

T ?
HERRLTIIS ?
WREE L2 g & W 2

2  HEME w-n
RSV EH RSO RS T 2
IR ?
MEF RIEZ BRI o

LTHE LIS g0
RENLE LR
R At (Thorndike’s Laws of Learning)
W RBE EL DR RE Ay 2 A TR A

2 HELHEE  op-go
AR UGB ARS AR
BRI TR EEE I8 (Theory of Trialand Error ,
FIBRuES?
RERFSTFERZRAERE?
Bt R ?

, AW TAREIR abed i ZLERo
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Bk e
HEEA G20

BREPA IS ?
BTy B NCHAER T A R 2
BT B R AR ?

2,

HERM ga—z0

BURR TR BB B WAL BR A ©
MBS B B ANART 7
SRR M 2

G. BRI e
1 i InERE

1

2

2y

B g0
AR > RUOKEL)
SR g
GRS » RuRER)
TRFHAEN g0
CEANES > REIHEZ)
FHEIRAAM =g
CHEAJE % » BREEHTER)

o SR R
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1
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1y

25
3>

M-

W R W & (Z=4630) — 21—

2 [@ & e
RUFIE LS
SR AR R — = R — B
(R 2 B0 > 22> i ERE 0 )

T T P S VIV

2 B % @w-xn
VI AJEE > BRI 85
T TR

1, RS EE—I0
- . x2—7x+4-6 . .
Examine ehe fruction £(x) =——fgp for maximum and miuimum
Values.

‘Water is flowing inte a eylindrical tank at the rate 10 cu ft. per see. If the
radias of the tank is three ft. find the vate of increase in the height of
the water in the tank.

x238x—1 ax

FEyalvate the integpal IT{-I—TJ-—

Eind the area of the curve r—a _cos20

L MRS (o)

Find the most economical shape for a pan with a square bottom and vertical
sides, if it is to hold 4 cu ft.

2t 1—t
Find the derivative -%%fm: the emrve x=-3 et B A ww el
Mtegrate
10— Vvi=
(@) Imdx, tb) T Ox

Find the-atea heteveen the parabola y® =4(x—1) 4 the live y=x—1.
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2»

3>

4
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2, JRETRET  GE—0

Show that the points(2—23,—1,—1),(1,8) form a vight:iriangle.

o~

Find the eguations of the lines through the-point (6,—~=2) making-with the
line x+6v+5=0 an angle® arctan 3

Find the tangents to the éircle x2y?+-2 x =0 perpendicular to the line
X—2y—>06

Find the eguation of a paraholg with vertex at (—1+4)» axis parellel t00Y>
and touching the line 2x—y+5=0

2 fRETAEAT  (m=so
ind the Area of‘the quadrilatera whose(verticaare 1,135 (25)(4,3)> 4,—6i0
A circle passes through (0,0).and %:ouches the line 2x-+-8y+-1=0 Find the
focus of its eentre.
Find the foeus, divectrix and’ends of the latus rectum of the parchola x2—
Tx—Ady 2=
Find the tangent and normal fo the hyperbola xy--2=0 at the point x=1
3, PHYSICS (#—)
Dérive the relations between the linear-and- the sangular velocity, and the linear
aud the angular acceleration.
Distinguish between the S H. M. and the.uniform ciretjar smotion. Find the
displacement. of the S. H.M. if the cpoch.is.zero or-equal .tn:—Izl;:. ‘&
Dofefine the following terms:— (a) magnetic field, (b).strength of field, (c)
magnetic moment. Show that the number of magﬁeh'c lires from.a polem
in vacuum is 47Tm,
Deseribe Low the strength of two magnetie fields may-be compared by means
a vibrating magnet.

_Conplain the terms mutual induction-and selfdnduction, peseribesome enperime
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nts totillustrate ‘your statements,

B B OB Gz
1> Explain the stabel, unstabel and neuniral equilibrium of a kody in terms of
energy.
2y  Show how the pressure of fluid in motion vavies with speed, Give an illustration
3> 100 grams of a certain s'lbstance at 80"c is immeréed in 550. grams of
WatE). at 2%, the tempelatme of the water rises to 6" ¢, Find the specific
heat of, the substance.
4: Describe how the strength-of two: magnetic fields may be compared by
mezans of a tibristing megnet.
5> How the capacities of two conductors may be comparad? what arsthe four"
factors which determine the copacity of a conductor?
¢ EEEE G-
L B TRFERFEWL 0
K,Cro0;-+HCl>
Nal+MnO2H2804—
Ca OH)2-+Clo—>
Na,B,0;+H.80,+H,0->
Zn(OH) » +NaOH—>
2, {iiREoKk? herd water's EisKAIALICIAAITLGHE ? AR B RL5EE ? T
ik i 3 AL o
3 FTAMERIERFFERET Ton)Z FHRX
FelCly—
{NH; 280,
H,80:->
NaC.H3z02—>
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4 AL HEESRY R Calelum sulphate) s £7HFF 6 3¢ - JHELE - £k
SERSD: » gHeEAA B LITEMAERSTARREGREST? (Co=40>
S==32>0=16,H==1,008)

5> [ PR F RIS Litmas 22K Remis ¢
K,COy, NayP0Og, NaCl, Cu S04, ZnCla,

6» i Varit Hoff Zepfsisiwmis
VRS AS N

4 TEE o=
1 4334 Molecular weight ) Z sk dlofi 358 o RFEZ »
2s  BhRsE Sulphates) 2 S HyA RS o £ o
3 SERTANER
Cu+-HNOs (83—
Cu+HNO; (#3)->
As.S3(NH, )25-+8-
GIE;{-K’OH{}’f}ﬁ%‘—-)‘
Cla +KOH i) -
4» AZFEEEANEUEE (Normal solution)100 ce. fhffiiteRano B4R T657NaOH
T o (H==1.008, Cl==355, Na=23, 0=16)
5s B4 (L4 (Hydrogen peronide) 2 8isk » 15 » KR o
u RIS
L WS -0
R AR IR (20 R
L BEES oEm
REBEER CEORER
2 WHFEN @

1> Find the orthogonal trajecton’es of the paraholas y2—=dax,



R B R E (=R 25
2, BSolve g;z — 3‘.3% +2y=Cdsx,
3, Solve -%i—-—xszs.
4; Solve & examine the exactuess of the eguation’ v—xi +(8‘;-.-«3) dv{—

a
+ Ux ~Fty—0.

2 WHSHER =
1> Solve (x2+1)8—g§—+4x<x2+1)ay=1

2, Soloe and e‘iamine for singular solution p? x®—a?}—Zpxy+y2—b2=0

3s  Soloe axg + zd-n +_.____,,_x +x2+x.

4, TFind the path described by a particle acted upon by a central foree the ferces
being directly proportional to the distance of the particle.

ax N B -

1> If o be the entre of the circle circumseribing the triangle ABC, and if forces
act along O, OB, and OC respectively proportional to BC, T4, a'nd AB show
that theif resultant passes through the centre of the inscribed circle.

2y Two equal marbles’ A and B, lie ina smooth horizontal circular groove at
opposite ends of a diameter ; A is projected along the groove and at the

end of time t impinges on B ; show that a second impact will oceur at the

.2t
end of time o

3y A body is thrown up in lift with a velocity Nerelative to the lift and the -
time of flight is found to be t. Show that the lift is moving up with an

. 2n—%
acceleration: nt S

4> From a regular hexzagon one of the equila emal triangles with its vertex at
the centre, and side for base, iscu away. Find the centre of gravity of the

remainder.
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8 1 B gm0
A hody, of massd Ibs, rests on a smooth plans which is inelned at 302 to
the herizon and is acted on by a forde equal to the weight of 2 ibs. actigh
porallel to the plane and upwards, and by a force equal to P Ths, weigtn-
acting ab an angle of 30° to the plane. Find the value of P if the body be
in eguilibrium.
I the hinges of a gate be 4 feet apart and the gate be 10 fi wide and
weigh 500 Tbs, show that, on the assumption that all the weight is borne
by toe lower hinge, the stress on the upper hinge must pe 625 lbs, wt
A hody is thrown up in a lift Wzth a velocity urelative to the lift and the
time of flight is found to be t. 4how that the lift is moving_up with on
acceleration—zl?z—'—
QOver 2 smooth light puppey is passed a. stping supporting at one end a
weight of mass 4 1bs. and at the other a pulley of mass 4 Ibs. and at the
other a'pu]]e_v of mass I lpa string with masses 2 lbs. and 8 lbs attached
to its ends passes over the second pulle); 5 show that the acceléra’cion of the
4 lTos mass is :%—g:

4, GERMAN (-0

(FE RSO ER)

Conjugate the verbs in present tense:
Geben, Schneiden, Spreehen, Horen, Sitzen.
Make senitenses with the following words:
Tisch, Brief, Lesen, Zahlen, Schwarg, Breit
TPranslate the following into German:
(). 1 put the books on the brown chair.
(b) He goes to theater,
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(c) You come from the park.

(d) We write on the black-hoavd.

() She takes a green pencil fromn the narrow desk.
4> Tl the blanks:

(2) Ich geha—das Feuster.

(b) Er stellt den stuhl—den Boden.

(¢) Der stuhbl steht an—DFeuster.

(@) Mejn Vater schreibt einen—Brief.

(e) Mutter kleidet—inder an.
B Give meanings:

Verkaufer, Regenschivim, Geschaft, Schlecht, Zuweilen, Schuewen, Nass

Schutzen, so gut wie, Haar.

o EXRE -
(FEFC PSR BB
(1) Donney le temps de I' indieatif present des verbes suivants:
S en aller
Craindre
entretenir
(2) Corrigez les phrases donnjes:

Gue de monde! -Gue de sueur; H y a mainte de nouvelle ilive passe I’
examan de enfre’ de la unjvers; tie de Chi-nzn. [’ un de eux sont moi, je
erains, mais je ne crains pas I’ examan, gui il font chand.

(3) Traduisey le phrase pricidantes.
(4} Donnez les substantifs suivants en francais:
ik BE WA B 8K kB LE

4 GERMAN (3=
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(13 Decline the following:

ot

der aite maﬁu, die junge Fran, das gluckliche Kuid, die starken Hunde.
(2} Coujngaté the verbs in p;esent tense:

ausgehen, lesen, langen, seben, sprechen, essen, lassen, trinken, sagen, horen
(3) Translate the following into English:

{2) Mein Vater ist aestemabend hier angekommen.

(v) Sein Bruder kame von Nanking.

(e) . Bitte, sagen Sie.mir, wo der Babhnhof isi.

(d) Ich habe eine Nhr, welche fwrmey s.ehr‘riehtig geht

(e) Kaunen Sie mir zeigen, wie man Auto fahrt?

(43 Translate the following into German.

(2) Who has told you, that my sister is coming?

(b) I am coming from the park and going to school.
{c) It is very hot to-day.

(J) Please, Close the door and open the window!

(e) I put my red book on the table.

& L @
(ARG > BUESREER)
LB B g
1, What is the area of an eqguilateral triangle whose side is one foot longer
than the alijitade?
2> Show that 3 and 15 ave the double yoots of 9x5—5lix!458x%4-58x—5lx
—I:S:O and find the other roots.
3, Show that the points (2—2), (—1—1) (I—5) form right triangle,
4> Find the equations of the lines through the point (6—2) making iwth the

line x-+-6y+5=0 an angle & arcian. 3
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(48 A BET » RERER)
£ P w0

B TS I R 8 ?

- 2R BRPR A (7 AR ©
{RRMRAE (Alternation of Genration)
B e e B R R D

2

-3»

3

4>

4,

I

1y

B Y o

(35 A B > BREGRERH )

P B g0

RB BRI E: 55— JO RAR
Y OB ogE=z0

(GEANER > RIERER)
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ADVANCED CHEMISTRY.  (45—%)

Give an account of the principal ammines containing cobalt and explain

wemer"s theory of their constitution.

Give three methods to separate cerjum from the vest of the rare earth

elements.

Describe the constituents of metallic alloys and mention the ways in which

an alloy may he forméd.
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The element mn is commonly "classed as a metal. Point out how this is
justified. There ave, however, some compounds of manganese, the study ;>f
which lead to its classification with other elements certainly not metals.
Give an account of any of these you know, and say what.comparisons they
suggest to you.

1>, ADVANCED CBEMISTRY. {(&5—3)

(SmARET > WERER)

2, ORGANIC CHEMISTRY. (4f—k)
Discuss the stereo-isomerism of tartaric acid.
How does the aceto.acetic ester react with sodium, sodium hydrozide or
sodium eohylate? Explain.
Prove the structure of natural indigo to be
How does the grignards; reagent react upon a keton, and what kind of
compounds will result after hydrolysis?
Define and illIustrate the terms:
Aliphatic hydroearban, aromic hydrocarkon, heterocyclic compound, alieyclie
hydrocarbon.

2> ORGANIC CHEMISTRY (45—

GmARET - WX

3» QUALITATIVE ANALYSIS. (45—}
If the solid is a phosphate, oxalate or tarivate, hew do wou proceed to
If a solution contains iron copper and lead how do you separats thnm?
prepare a solution fo, the identiification of the base?
State whether each of the following substances is soluble or -insoluble sub-
stances as precipiiates: (a) calium chloride, () barium ‘carbonate, {c) phosph-

oric chloride, (d) phosphorous, chiloride, (g) copper sulfide, (£) strontium
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nitrate (g) ammonivm sulfate, (h) aluminium hydroxide,

4, Give an account of the distinction Dekween chloride, bromide and cyanide.

3. QUALITATIVE ANALYSIS. (#—%)
(A AETE - BUERER)

4, GERMAN. (85—
ke LR 5 vkl e i

4> GERMAN (#5730
(SEARRT - RUEARGE

i TR RRRTARNHR
1,  BOOKKEEPING {8—x)
1, From the following accounts prepare a balance.sheet as of Dae. 31,1931 in

proper form:-

Mortgage on building 22,344 81
Furniture and Bixtures 151848
Larid and Buildings 85,333.83

Allowance for Depresiation on Furniture and
Fixtures 253,08

Allowance for depreciation on- machinery 158451

Maghinery 1337267
Cash 3,640,15:
Acets. Ree. 11:630.18
Acets. Payable 551234
Notes Payable 2,511.8%
Notes Receivable 7,807.62
Merchandise Inv. (Dee. 31, 1931) 55,581.20-

Allowance for Bad Debts, 1,02000
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Unexpired Insurance 100.00
Office Supplies 72018
A. B, C, Capital 96,528.44
Accrued Wages 487,66
Accrued Interest Expense 134.83
Accrued Taxes 376.75 - 40%

Adjust the following transcactions:

a. Inventory Dee, 31, 1981 45,065

b. Supplies unused 21

c. Rent pr paid 40

d. Insurance unexpired 20

e. Taxes accrued, not paid 36

{. Depreciation on Building 20 30%

Mention several- transations which you think to be peculiar to parinership
15%

Fixplain the relation between the Contrdlling Account and the Subsidiary
Ledger. 159

1> BOOK-KEEPING. ($5=R)
On July 1, 1932, Mr. X began the wholesale grocery busine with the
following assets: real estate valued at 47,000 Delivery truck valued at $800
Cash on deposit $2,619.70

As book-keeper for Mr. X, kake the required entry for the investment
and record the following transactions. using at least two bodks of -original
entry (couble entry journal and cash baok)

July 3 Received from Sincere Co. terms 3/10 nj60 an invoice of

merchandise amounting to $1731.50
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Ss aold a horse for $350 and puchased from Mr. A. agent, an aulom-
obile delivery truck for $575, paying $400 cash, balance to be paid in ten
days.

51 sold Mr. B an account, merchandise amounting to $£87.50

6r Received from Mr. G, an invoies of merchanuise emoudting to $15
67.75 and gave him a 30 day note for $450, halanee on account.

7y Mude cost sabs amounting to $48260

9 Bought for cash a lypewriter and a desk $120

10> Bold Mr. 1 terina 2/18 Lill of merchandise ameunting to  $292,59;
Prepaid freight $14,88. which was added i¢ amount of iuvoice.

12> Paid balaunce due on automobile truck.

13 Paid by check invoice of July 8, less the discount.

14> Made cash sabs amounting to $416.88

16+ Sold to M. F. on'his 30-day note, merchandise ameunting to $537.50

17> Borrowed from Henry Jones $200 on a demand note bearing intar-
est at 6%

18» Disconnted M. F. s nole al lank and rveceived credit {oc the
proceeds.

205 Recoived a draft from Mr. D for bill of July 10, less the discorent

23, Paid $100 andl the intgr%t accrued on demand note of July 17.

25r Received from wing on Transfer Co. 2 bill amountint to $37,62 for
fright and cartage on incoming goods.

28, Paid salaries $48, incidental expenses 816,25, insurance $22.50

20s Paid wing on Trangfer Co. for fright bill of July 25

Balance the cash hook. 502
Adjust the fc;lloivin_g'transactions:

a. Inventory Dee 351, 1981 35,008
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b. Supplies unused 50
¢ Rent prepaid 40
d. Insurance unespived 30
e. ‘Taxes acesued, not paid 20 302
f. Deprecialion on b‘uildihg 60

Joxplain the velution Iclween Lhe conlrolling account and Lhe subsidiavy
ledger. 10°;
Mention serveral transactions which you think to be peculiar Lo partnerships

10%
2, BCONOMICS 3~ %

State in gencral the motives to business activity.
Suwnos? you ave hungry and eat four bowls of rice at one time. Which
bowl gives the greatest satisfaction? If you were Lo measwre the retility of
the Tirst Towl as 120 what would you estimate as the retility of tne second
ewl? the Lhivd. a fonrlh, a (fth. would your estimate be the sume for
sueenssive paivs of shows?
What ave the advantage: and disachvantages of Cooperation? is Co-opsyation
compstition?
If zou were writing a elnfl\l labor of China what would you put into it? Be
caveful to make it as complete as possible but in aceordance with possibili-
ties in China

2,  ECONOMICS 45—
Name the qmﬂi@ies you thing a good laborer should possess? Deseribe.
Can a man™ eduration be considerred pacl of his capital?
Onus people pelisyed |hal enlv one nf Lwo people who made an exchange

could mzofit: that the gam of the one was the'loss of the other. Fint out
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Can the rate of intenst be fixed by law? why?

Suppose smcew Co; vent thely sm on Nankmg road,* will the price of their

goods be hlg'h&l or lower or just the same as the prices in a fittle shop

out on Bubhling well voad where venis are moch lower?

3 B OB meac

Algebra
1> Find the sum of the series 1 4> 165 64 3 — — — 15 terms.
2, Given  log 2-=,3010

log 5—,6990
Solve the eguation:

2x+-3=bx—1

2> Plot the following two equations and find their point of intersection:
2x—Y==d— 11
L2Y=13—2)
4r Tind the number of wavs in which twelve persons can be divided inin -
two committees of seven and five persons, respeciively.
Geometry
1> Prove that if the perpendiculars from the extremeties of the base of
a triangle to. the other two sides arve quale, the triangle is isasceles.
2; Prove that two angles whose sides ave perpendicular each to each ave
.either equal or supiﬂementm-y.
3s If equilateral triangles are.constructed on the sides of a right triangle,

the triangle on the hypotenuse isequivalent to the sum of the triangles
on the other two sides.
3: MATHEMATIES (#5—-%:

Making use of the binomiad formula, find the 4th term of (P2— 2 )1E

——q‘5+2p‘3+0=02‘3—-q‘5
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Write the equation of some line which is yanaelle to the line y==8x—2, and
also tne equation of some line which 4s perpendieular to the line y=3x—2
Pind the mahiumn or minimun value of the following quadiatic function:— ,

x2—dx-4
Four persons enter a voom in which there are six chairs. In how many
different ways can they he seated?

1>  ACCOUNTING (ff—%:

A Coorproation is organiz: mith capital stock $500,000. Subscriptions are
recived for $300-000 at 110 and $150,000 is issned for property valued at
$165:000, Subseribers pay all the premiun and 50 per cent of the principal
of subscribed siock. $175,000 cash is expended on plant. $50:000 stock is
donatzd to the company, of which $40,000 is sold at 105. Prepare journal
entries and belance sheet.
IVstinguish between the following:
(A) Capital stock authorized
(B) Treasury stock
(C) Donated stock
(D) Stock out standing
(%) Unissued stock.
An engine installed in a factory Januaryl, 1928, at a cost of £1,000 is
replaced by one of larger capacity Deeember 31, 1931 costing 'second hand)
2,800,
The disearded machine was sold for $900. The cost of making the change
was $200. It has been the practice of the company to charge off 10°
depreciation annually {on straight \ihé basis) carrying the credit to a Depre.
clation Reserve Account. Make the necessary jowrnal entries.

A partnership is formed with agreement that A confribute $200,000; B 51
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00:000: and C $100,000, profits to be shaved in ratio 2:1:1. Interest on ex-
cess or deficlency in capital contributions to be figured at five per cent.
Actual contributions ave A, $200,000; B, $105,000; C, $70,000.

A. "Give the partners’ capital accounts and interest account, showing
all changes caused by interest reckoning.
-B. Work same pr;oblem with partners sharing profits equally.
1> ACCOUNTING (R
ARARET > RASERR)
2;  MONEY AND BANKING (#—x)
1» State in general the functions of money. What are the qualities of a good

money?

(]

»  What proposals ave made from time to time the price level more stable and
so to preserve 2 just relationship between debtors and creditors? Explain cach.
3>  Qur country, a silver standard country, has suffered a great deal financially
due to the sudden fall of silver prics recently, what;rex;ledies can you suggest?
4, In what respects doesa savings bank differ from that of a commereial bank?
5> What are the functions of a trust eompany?
2, MONEY AND BANKING (4§=3%)
(AN » BRMRAEZ)
3 WABE o0
(75 BB RI OF B AT R )
1, Find the cost of a 4%, $1000 bond, bought 10 years before maturity, interest
payaole semiannually, yielding 1% (n==2) to the investor.

> An article costs 32000 with a probable life of 10 years and a scrap value of

o

$500. Find the annual depreciation by the sinking finnd method. Also find
the book vé]ue at the end of five vears.

Q1 ta: dirss of e mith $L)) is deposited in a savings bank and interest
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allowed at 43, effective. Find the amount at the end of five years.

Find the nel annual premieun on a 10. year $10000 endowment policp,
purchased at age 35.

A debt of $3000 with interest at 6% (m==2) is Leing paid off* in 30 equal

monthly payments. What is the monthly payment?

8 MERIHEE G50
(v AR BT EE E)

What .is a statistical series? In what ways are frequency sevies different in
principle from other statistical series?
Discuss the formation of a classified frequency table with respect to aceuracy,
class limits, and class freguencies.
How do diagrams and graphs differ from tables? What essential elements
must be cbserved in order to make diagrams and graphs comparable?
Can smoothed graphs be used to represent diserete changes? Explain.

Diseuss the general characteristics of ratio seale graphs.
1,  ACCOUNTING (45—}
HPE R SUTEUR=454 ACCOUNTING (Sf—2¢ BRI
1>  ACCOUNTING (35—
(A RETL > BUHARRS
2> MONEY AND BANKING (ffi—:
PIEra B AATHRE 402 MONEY AND BANKING (55— SRR
2, MONEY AND BANKING (—z"
{AEAFET » RERREE)
3,  RAILROAD TRANSPORTATION (45—}
Define transportation. How is the consumpation of wealth affected by

transportation development?
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2»  Why is the problem of elecirification of steam-railroads likely to become of
great importance?
3> What ave the various classes of railroad bonds? of railroad stock? Define each.
4> What is meant by the value of service as a factor in rate-making? Whatis
its influence in rate making?
55 Why is the railroad competition less keen than that of water competition?
3>  RAILROAD TRANSPORTATION ($£—%)
(JE A MEH - BRHIARSE L
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